### **Transfers Report**

This report contains the transfers results.

Contest Name	Wick and East Caithness
Valid Votes	4,180
Positions to be Filled	4
Quota	837

# Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Raymond BREMNER	Scottish National Party (SNP)	1,059
Bill FERNIE	Independent	438
Andrew JARVIE	Scottish Conservative and Unionist	632
Neil MACDONALD	Scottish Labour Party	272
A.I. Willie MACKAY	Independent	534
Jan MCEWAN	Scottish Liberal Democrats	1,245
	Total	4,180

Candidate Raymond BREMNER Elected with 1,059 votes, being in excess of the quota of 837 Candidate Jan MCEWAN Elected with 1,245 votes, being in excess of the quota of 837

# **Transfers Report**

This report contains the transfers results.

# Stage 2 - Surplus of Jan MCEWAN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill FERNIE	247	0.32771	80.94437
Transfer to Andrew JARVIE	208	0.32771	68.16368
Transfer to Neil MACDONALD	231	0.32771	75.70101
Transfer to A.I. Willie MACKAY	310	0.32771	101.59010
No further preference	249	0.32771	81.59979
Not transferred due to rounding			0.00105
	Total		408.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 3 - Surplus of Raymond BREMNER

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill FERNIE	249	0.20963	52.19787
Transfer to Andrew JARVIE	24	0.20963	5.03112
Transfer to Neil MACDONALD	178	0.20963	37.31414
Transfer to A.I. Willie MACKAY	307	0.20963	64.35641
No further preference	301	0.20963	63.09863
Not transferred due to rounding			0.00183
	Total		222.00000

# **Transfers Report**

This report contains the transfers results.

# Stage 4 - Exclusion of Neil MACDONALD

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Bill FERNIE	69	1.00000	69.00000
Transfer to Andrew JARVIE	35	1.00000	35.00000
Transfer to A.I. Willie MACKAY	77	1.00000	77.00000
Transfer to Bill FERNIE	59	0.32771	19.33489
Transfer to Andrew JARVIE	41	0.32771	13.43611
Transfer to A.I. Willie MACKAY	50	0.32771	16.38550
Transfer to Bill FERNIE	47	0.20963	9.85261
Transfer to Andrew JARVIE	8	0.20963	1.67704
Transfer to A.I. Willie MACKAY	41	0.20963	8.59483
No further preference	91	1.00000	91.00000
No further preference	81	0.32771	26.54451
No further preference	82	0.20963	17.18966
Not transferred due to rounding			0.00000
	Total		385.01515

# **Transfers Report**

This report contains the transfers results.

# Stage 5 - Exclusion of Bill FERNIE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Andrew JARVIE	93	1.00000	93.00000
Transfer to A.I. Willie MACKAY	250	1.00000	250.00000
Transfer to Andrew JARVIE	58	0.32771	19.00718
Transfer to A.I. Willie MACKAY	122	0.32771	39.98062
Transfer to Andrew JARVIE	29	0.20963	6.07927
Transfer to A.I. Willie MACKAY	160	0.20963	33.54080
No further preference	164	1.00000	164.00000
No further preference	126	0.32771	41.29146
No further preference	107	0.20963	22.43041
Not transferred due to rounding			0.00000
	Total		669.32974